
Q.1 Answer
a.

C.

Q.2 Answer the following. (any two)
a. Explain the various s'

b. Explain the ERM matrix
c. Define Arbitrage. ExPlain

Q.3 Answer the following. {any two}:''
a. Define corporate gove

b. Define Risk assurance

c. Briefly discuss Risk &

Q.4 Answer the following (anY twoli .

a. Discuss the Powers,
b. What is Reinsurance? What are

c. Expected losses are given in
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Claims are paid at the end of Yeai
lnterest rate = L0%

Expected claim processing costs = Rs 600

Fair profit = 5% of Pure Pr:emium

ium
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ProbabilitSituation
Ll_ ,,,',-iNormal

Recession

Boom

Loss value in Rs.

0.08

0.9
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Please check whether you have got the right

t. All questions are compulsory subject to
2. Figures to right indicate full mark'

N.B:

b. Explain the different tools used to measure

"..

b. Under writing costs =

0.5:

Probability
;o.02

::,:



Q.P. Cod

Q.S Case study
Evaluate the performance of funds M,N & market port folio from

form the past 6 months

6%of'aterestinteThe 6 month Treasury Bills Carry an

Month {return %) April May June July " f.' r;

Fund M 3.25 1.50 (1.00) 3,i15: 
''..1 ,'. :

Fund N 2.50 (1.2s) 0 ...:2,75,.';,, .,rrl: r,'' t

Market portfolio 1.00 (0.7s) 2.00
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